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109# 17,212 5509 2,507 9,196 2,500 239 9.6 2,261 186 134 52 20 82.8 1.64
110# 16,801 4,493 2,758 9550 2,741 179 6.5 2,562 262 186 76 18 77.9 2.02
111# 16,598 5,008 1,951 9,639 1,972 166 8.4 1,806 157 110 a7 17 80.9 1.89
87 1,429 438 151 840 153 12 7.8 141 16 13 3 1 87.5 1.58
g 1,278 405 168 705 161 10 6.2 151 17 11 6 3 82.4 2.75
10* 1,352 417 152 783 146 12 8.2 134 9 5 4 3 88.9 1.59
11° 1,551 463 150 938 155 17 11.0 138 16 11 5 1 75.0 1.72
127 1,457 453 128 876 136 12 8.8 124 8 5 3 — 62.5 2.01
112#1-87% 11,918 3,656 1,172 7,090 1,168 83 7.1 1,085 82 53 29 8 74.4 1.61
B FE B Y% 8.7 11.8 -134 119 -150 -27.8 {-1.3} -138 -234 -321 — -20.0 {-7.8} -12.4
1°® 1,159 355 80 124 79 7 8.9 72 9 5 4 2 77.8 1.77
21 1,514 503 153 858 144 7 49 137 14 8 6 2 71.4 1.61
37 1,833 537 171 1,125 174 13 7.5 161 10 6 4 — 60.0 1.46
41 1,143 322 132 689 128 7 55 121 4 3 1 — 75.0 1.98
ha 1,704 500 171 1,033 180 12 6.7 168 11 10 1 1 100.0 1.65
62 1,396 430 136 830 133 12 9.0 121 9 7 2 — 77.8 1.51
K 1,664 461 147 1,056 154 13 8.4 141 12 8 4 1 75.0 1.63
81 1,505 548 182 775 176 12 6.8 164 13 6 7 2 61.5 1.42
gt IHFEY -9.6 18.9 23.8 -26.6 14.3 -1.7 {-1.6} 16.3 83 -25.0 75.0 100.0 {-13.5} -12.7
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